Assignment

Name

ID: 1

Date Period

Solve each equation. Remember to check for extraneous solutions.

1 2k -7 1
1) 2 ) =
ke +7k + 10 k“+7k+10 k+2
y L _ 1 8 +3
X—5 x2-x-20 x2-x-20
a-3 1 1
4) 2 .3 =2
2a°-+18a+28 2a“+18a+28 a“+9a+14
8 1
5 ——=1+
p-35 p-35
1 1 4n + &
7) = +—
n-8 n+4 n“"—-4n-32
1 4r — 8
9 1=— -
5r 5r
6 4 8
11 =
)n2—6n n n’-6n
b-1 1 1
13) — = +—
b-—=7b b-7 b
1 2X—17 X—8
15) — + =
)x x?—2x  x*-2x
4 1 1
17) — =— -
k“+5k-6 k“+5k-6 k+6
7 6
19) =5-
n- n-2

X—35 1 3 1
2Xx+10  2x+10 X435

2)

1 X+ 8 1
6) - =
3x-12 3x“=12x x-4

2m_14+ 7 B 1
m+35 m+5  4m+20

8)

12
3m—18 m-6

1
10) — +
)3

12) ! + 2 = !
X2 - 12x+35 x-5 x-7

14) v—3 3 6 1
vi-8 v-8 vZ-8v

I a-4
16) 1 +—=
7a 7a

1 p-—4 8
2 T3 =
p-—=7p+10 p"=7p+10 p-5

18)

311
m? —m

20 =
) 2m m?-m
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1 1 7 1 1 X—3
21) + 22) =— -5
X—6 Tx°—=39x-18 X —39x - 18

rr+6r r+6 r*+6r

1 2 6 1 1
23) 3 - = 24) — - >
4Nn-8 n-2 X*—X-20 X-5 X —x-20

2T wsgsgs ath-vsorlsheel ory
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Answers to Assignment (ID: 1)

1) {1} 2) {8} 3) {_g} 4) {4}

5) {12} . {_g} 7 {1}3 . {?}

9) {1} 10) {11} 1) {H} 12) {8}
2

ST B

17) {-2} 18) { ? } 19) {? } 20) {-3}

21) {6} 22) {%} 23) {14_1} 24) {3}
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ID: 2
Name

Assignment Date Period

Solve each equation. Remember to check for extraneous solutions.

6 1 1 1 8
1) = ~1 2) — = -3
V+5 V+5 n“"-2n-48 n+6 n-—2n-48§
7 1 2 7 4x —20
3) - — = 4) + =1
6b+5 6b°—43b—-40 6b+5 X+5 X+5
1 4 1 8k — 24 7
> =— + 6) + =1
X“+Xx-=30 x°+x-30 Xx+6 k-5 k-5
5 5 1 8 4 2x-14
) — =—+— 8) —=— —
a“+4a a a“+4a 3 3 X+ 1
1 1 3
9) -2 =2
X—8 X" —14Xx+48 Xx° —14x+48
6 1 7n + 28
10) 2 ) - 2
n“"-3n-40 n°-3n-40 3n--9n-120
n+§ 1 1 1 4
11) * + =— 12) 1+ =
6en+6 12n+12 2 X—-5 x-5
4p-20 1 1 5 8 1
13) E) + 2 = 14) 5 = 2 +
p-—6p 2p°—-12p p b*—b-42 b"-b-42 b+6
7 1 1 2Xx+16  5x+5
n“"+6n+8 nNn+2 n"+6n+8 9X 9X
1 6 1 1 m-5
17) ——=——+3 18) - —=—
b-5 b-5 m+6 m m”+6m
1 n+3 3n+5 1 5 1
19) + = 20) + =—
2n+10 n+5 2n+10 Xx—1 x—1 X

LT wsgsgs ath-vsorlsheel ory
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1 5 6 1 1 4

)xz—x X x*-x )r+6 rr+6r r’+er
3 1 6a—"7 1 5 1
23) + =— 24) 3 == +—
a-7 a+1 a" -6a-7 Vi—V V=V Vv

2T wsgsgs ath-vsorlsheel ory
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Answers to Assignment (ID: 2)

1) {~10} 2) {17} 3) {45_1} 4) {6}

ST N = | Y1

9) {10} 10) {_g} 11) {%} 12) {8}

13) {%} 14) {4} 15) {-10} 16) {22_1}

17) {13_0} 18) {-1} 19) {2} 20) {_%}

21) 2] 22) {3} 2 2] 24) {-3]
2
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Assignment

ID: 3

Solve each equation. Remember to check for extraneous solutions.

4 4r—6

5) 6+ =
2r+3  2r+3

m+2 1 7

7 —
) m>+5m m?>+5m m

4 8 n
T3 — 2
n-3 n"+n-12 n“+n-12

9

X—1 1 2

15
) x> +8x+ 15

+— =
X“+ 88X+ 15 X+3

17) 1 1 X+5
X—4 x2—10x+24

x> — 10X + 24

2 ==
nN“"—-4n n 2n-2§

21)

LT wsgsgs ath-vsorlsheel ory

Name
Date Period
6 1 1
2 = - —
) X2 +6xX X>+6X X
8k -5 1
4)

k+5 - k+5 B

18X + 42 X+4
6) =1

+ =
S5X+2 S5x+2

1 b+6
8) =—
b-5 b°-3b-10

8b — 64
+
b?-3b-10

k? + 3k

X+7 N 1 _x—3
3x+ 18 X+6 X+6

16)

1 1 2
18) — + =
)x x2—5x  x*>-5x

2 1

b-3 b-3

20)
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jy X2 L oy 41 1
X2 —5x+4 x-4 x-1 n-8n+7 n-7 n*-8n+7

2T wsgsgs ath-vsorlsheel ory
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Answers to Assignment (I1D: 3)

1) -3 2 {-11) 3) {0} o (1)

7
g 0 -7 ) ] 0 13
9) {-8} 10) {11} 11) {10} 12) {_%}
o f} o
17) {1} 18) {6} 19) {1} 20) {4}
21) {2} 22) {1} 23) {29} 24) {6}
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Assignment

Name

ID: 4

Date

Solve each equation. Remember to check for extraneous solutions.

2 6

1) -1=
X+ 6 X+6

4 1 7
Vi+ov Vi 6v

3 +
) V+6

4 1 7

5 + =
)p—4 p’+p-20 p*+p-20

2

7)1+
X+5 X+5

9) 3b—6:1+b+8

2b b

1 7
11) 3+ —=—
&M 8m

15)

2 - t 3
n“—13n+42 n-6 n-—-13n+42

8 1 3
+ =
+2k  k+2 kZ+2k

17) %

21 4 8 1
X+5 x2—x-30

x? —x—30

LT wsgsgs ath-vsorlsheel ory

4 X+ 8 1

Period

2) — =

= +
X x2-3x 2x*-6x

a+4 1

1

a’—6a+8 a-4

+
a-2

6) 7 3 5 4
n—7n-8 n+1 n*-7n-8
5 1
8) ——=1+—-
k+3 k+3
1 1 4
10 + =
)r—S r>—5r r?—5r
v -7 Vv+2
12) + =1
3v 3v
b+4 b-5
14) 2 o222
4b -8 b-2
n-1 1 2n+16
16) — =—+—
nN“-7n n n°-7n
1 7a+ 56 6
18) =— >
a+1 a“+a a~+a
1 4x + 24 1
20 =
)x—7 x2—7x x> -7x
1 4 m-7
22) ————+—=—>5———
2m< + 16m m 2m-+16m
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2) 8 1 1 20) 1 7 4n -8
—_— = 4 — — =
p p p-1 2n+7  2n*+19n+42  2n*+19n+42
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Answers to Assignment (ID: 4)

1) {-10} 2) {ﬂ} 3) {g} 4) {10}

6 7
5) i_% 6) {{5?1}} 7) {4} 8) {1}
9) {-22 10) {3 1 S
13) {54} 14) {8} E; ~i144}} 12 ifs}}
DE Wl el s
off) el af) wf
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ID: 5
Name

Assignment Date Period

Solve each equation. Remember to check for extraneous solutions.

8 1 1 2
1) = +1 2) +1=
x—1 x-1 5n-4 S5n—-4
1 b+7 1 1 n-4 n-1
3)__ 2 = 4) — =
b 8 -3b 8b-3 24n 6n 24n
2 1 8r+24 6 1
r“+é6r r r°+6r a+5 a+5
4 1 1 1 1 5
7 — = 8 R
)x—7 X2—x—-42 x-7 )x2+5x X X
8 4 1 4
9) + P =75 10)_:_+1
V+5 VvV +5v v +5v k
1 1 2 1 3 1
11) — - = 12) — = —
)x X2 —4x  x* —4x )2 a+7 a’+7a
10p—4 1 1 1 1 4
13) —° _ == 14) — +— =—
Sp+1 10p+2 2 X X =5Xx X =5X
2n+6 4 1 1 2 5
15 — =— 16 + =
) n>-6n n’—-6n n ) m-6 m?>-6m m?—6m
4 1 1 3
17 +—= 18) —=1+—
)r2+3r ror2+3r )b
2 1 8 1 vV+7 6
19) — + =— 20) — - =
X“+7X X+7 X +7X Vo +2v+1 vi+2v+1 v+1
6n-3 2 1 a 1
21) — - — =— 22) —— - ——=5
n- —4n n“—4n n a—28 a—38

LT wsgsgs ath-vsorlsheel ory
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1 § 3 I 7x+28
N2+14n+48 n+8 n?+14n+48

23)

A, dagsgs . mabh-verksheeb.org
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Answers to Assignment (ID: 5)

1) {8) 2) {1 3) {%} 2 {%

T ) B

9 [-3 10) {3} 11) {7} 2 (2

i S
3

17) {-6} 18) {2} 19) {6}

|
o) @ w3 w
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ID: 6
Name

Assignment Date Period

Solve each equation. Remember to check for extraneous solutions.

by LT y LA
an2n m+6  mM+6
4 1 1 8 1 1
)xz—x X2 —x X )x+7 X X+7
1 1 3 1 1 3
5) 2 _ =Lt 2 - T
k=—6k k k*-o6k p°+6p p p
1 1 X+ 1 1 5 1
7 - il 8)

6X—6  2X—2  6X>—6X r+6 r+3 r+3

1 7 8 1 5n-25
9) — +—=— 10) + =1
b“+5b b b“+5b n+4 n+4
1 1 6 1 1 4
11) — +—== 12) — ¥ -
Vi—-5%v Vv vV n“"-9n+20 n-4 n-4
7 1 1 6X +48 1 1
13) 2 = - 2 14) > = ) +
a-—5a a a“ —5a X“—2Xx—-35 x"-2x-35 X—17
1 2 1 6 2 2
15) —=—+ 16 = +
) a a a’-6a ) x?—2x x*-2x 3x-6
1 1 5 X—4 X+1
17) =+ 55— == 18) - =1
k k“—6k k°—-6k 3x X
3 X+ 8 1
19) 2 3 =2
2X° —20X + 48 X“—10x+24 x°—-10x+24
1 4 1 3n-3 1
20) — +1=—o- 21) — = +to3
3m 3m 4n-+20n  4n“+20n 2n“+10n

LT wsgsgs ath-vsorlsheel ory
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r+5 1 3 3 1 1

22) — = + 23) — + =—
4r- +24r—-64 4r+32  4r+32 p-—8p+16 p—-4 p"—-8p+16

1 5 X+1
28) —— = .
X—8 X" —8Xx X~ — 8X

2T wsgsgs ath-vsorlsheel ory
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Answers to Assignment (I1D: 6)

1) {6} 2) {9} 3) {4) ) {%}
v o[ of el
9) {~4} 10) {7} 1) {25_6} 12) { %}
13) {13} 14) {_g} 15) {5} 16) {6}

5
17) {10} 18) {_%} 19) _12_7} 20) {1}
21) {%} 2) {?} 23) {2} 24) {2}

2 gagsgs path-wersheeh.ory th-worksheet
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Assignment

Name

ID: 7

Date Period

Solve each equation. Remember to check for extraneous solutions.

2 4v+32
1) 1+—=
5v 5v
4n -4 1
3) =]1-—
n n
1 n-17 2n-17
5)

n+7 n* +7n n*+7n

4
7) +1=
X+ 6 X+6
m+ 8 1 m+2
9) =— —
8m 2m 4m
5 1 1
11) — - Y
n“"-2n-48 n+6 n-—2n-48§
1 7 +6
13) — = P

p p>+5p  pP+5p

1 1
15) — +2=—
4n 2n

1 1
17) —— -1=
b+4 3b+12
1 n->5 n+1

19)

= +
nN+8 n?>+16n+64 n?+16n+ 64

1 1 6
21) - =
X+ 1 X“+X Xx+1

LT wsgsgs ath-vsorlsheel ory

b+5 1 1
) T3 o =
3b+9b 3b b+3

1 -4 8
4) _rmre
3x—24 X—8 3
5 1 1
6 -
) a’+7a a a’+7a
7 3 1
8) =—+
4k +20 2 k+5
X+ 1 1 1
10) _ -

X2 +6X X>+6X X

14) 1+
X—-5 x-5

r-4

1
16) — -2=
2r 2r

1 6 3
18) - = =
a-—-o6 a-—a-30 a+5

1 6 1
20) — == -
)v v vi-6v

S
3n2—n 3n-1 3n%-n

22)
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] 5 3 7 5
23 —1= 24
)4x—1 4% — 1 )k2

= +
-2k 3k*-6k 3k

A dagsgs . mabh-verksheeb.org
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Answers to Assignment (ID: 7)

1) {30) 2 2] 3) {-1) 9 {7)
5 |7 6) {-3} 7 {-3) 5 [0
9) §4}§} 10) {-3} 11) {14} 12){{32}}
13) {-2} 14) {8} ) {1} 16) {1}
8
o Ly
5 4 5

2 gagsgs path-wersheeh.ory th-worksheet
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Assignment

ID: 8

Solve each equation. Remember to check for extraneous solutions.

1 3
1) —+1=-"2
2" T2p-6
X - 42 2
3) —1- 2
X X
1 ! n-8
5) .

+ - 2
n+4 5n-5 5n"+15n-20

1 b+6 b-3

7) — =
S N

g) 2

4a 4a

1 1
15)_ :32)+12
2p 2p-12 p"-6p

5 3m 1

17 - =
) m-5 m>-3m-10 m-5

8§ 1 1

19 —
)p2+5p p°’+5p p+5

X+ 6 1_4x—16
X+2 X422

21)

LT wsgsgs ath-vsorlsheel ory

Name
Date Period
1 1 8
2) —— +—=—
m-1 m m
1 8
4) — —1=——
r+8 r+8

2 &x—-64 1

6 = - =
)x+7 X2 +7X X
g L 5n 5
2n—14 4n*-24n-28 4n+4
1 1 2
10) —=— +
k k®+5k k+5
X—6 1
12) =1
4x—-8 4x-8
1 4
14) 3 - =
n-4 n-4
1 8
16) 4=— — —
X 2X
1 1 3
18) =— +—
3b—12 3b°—=12b b
3 1 7
20) — =— +
X“+3x—18 x"+3x-18 X+ 6
1 8
22) =1-
r-3 r-3
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1 1 2 15 1
23) o

2_ = ~ =+ 2_ 24)
&n 6n 8n-6 4n 3n n+4

A, dagsgs . mabh-verksheeb.org
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Answers to Assignment (I1D: 8)

R T
) 3} 0 {5 ) 0 5]
) {23_9} 10) {4 11) {-2} 12) {1}
R BT B
17) -8} 1 (2] 19) {-7) o (2]
21) {5} 22) {12} 23) {-3} { 6
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ID: 9
Name

Assignment Date Period

Solve each equation. Remember to check for extraneous solutions.

1 4 1 X+2
) 1+—=— 2) — + =1
6v 3v 6X 6X
k+6 1 3 1 6n+36 1
3) 2 =L T 4) 2 ) =
k” +8k k k n-+7n nN“+7n n
1 1 5 1 8 1
2 = T3 6) —=—- 2
a“+3a+2 a+1 a"+3a+2 X X X“ + 6X
7 1 1 1 3
7) -1= 8) — +—=—
7X +3 7X+ 3 p°+8p p p +8p
n-56 n-8 5 1
9) 1= - 10) +1=
n n n+6 n+6
7 6 1 1 X—4 5
11 - = 12 + =—
) r’+6r r+6 r’>+6r ) X2 +6x  X*+6X X
7m + 49 m-6 2 1 b+1
13) 5 - 5 = 14) 6= —
3m“ + 15m 3m“+15m 3m+15 b+6 b+6
7 1 6 4 1 1
15 = +— 16 = +
) vVi—d4v vi—4v v ) a’—4a a-4 a’-4a
5 1 2 k+1 7k — 49
17) = +—5—=— 18) 1= +
n n"+n n°+n 2k-7  2k-7
X+ 1 5 4 1
19) 25 4y 20) p
X — X—5 5p—-6 S5p-6
1 1 1 7 1 1
2]) —=— - — 22) — =— - —
20r 4 10r nN“—-3n n 2n° —6n
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X—5 1 2 6
_ + 2 28) ———
X2 —7x  x*-7x X ) m? + 8m

3| w

23
) m? + 8m

A, dagsgs . mabh-verksheeb.org
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Answers to Assignment (I1D: 9)

4 S A L
9) {ﬁ} i»{{_j ?1){{71}} 2 {_ 33 }
13) {Sﬁ} 14) {_ﬁ} 15) {5} 16) {3}

4 7
Al el e wp
21) {%} 22) {22_1} 23) {8} 24) {-7)
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Assignment

Name

ID: 10

Date Period

Solve each equation. Remember to check for extraneous solutions.

4 1
1) —=—+1
X 2X
b+5 1 7
3) +—=—
b+b b b
Tr—-2 1 1
5) 5 —_=—
r“+er r r+6
5 7
N1+—=—
4v 4y
4n - 12 n+2
9) 1= -
n+7 n+7
1 6 1
11) = - —

X2+7x  X2+7X X

-1
13) = 412
8X 8X
5 8 7p+21
15) = -_P*°  IPF
p p +6p p +6p
5 4X + 4
17) > 4=
X—4 X—4
1 1
19) —=—+3
2x  8X
2
21)2:28 +—
b b°-4b b

LT wsgsgs ath-vsorlsheel ory

1 1 4
2) = _ -
)n n+n n?>+n

1 1
4) 1+—=—
&N n

1 1
8) ———=—+
12x—-12  3X

7X+ 56
4x% — 4x

X—8 6
+— =
X“+7X  X+7

X—1

10
) X% + 7x

7 4k — 8
+ =1
k-7 k-7

12)

6 1 ~ 8
nN+6 n>+12n+36 n?+12n+36

14)

5

16) 5+ =
2r+6 2r+6

8 1 3
18 = +
) n? —4n

1 1 7
20) — + =
)v vZ — 5y

1 n+7
22) 1=— -
2n 2n
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1 1 3a-24 1
- 24)

1
- R — +
m>—8m m m?-8m da+12 4a’+20a+24 a+3

A, dagsgs . mabh-verksheeb.org

math-worksheet.org



Answers to Assignment (ID: 10)

o) o ) 5] i

9 {-3] o 5 0 {5

0 (2 0 (-] 1) {-2] 12) {-2]

s BT TR
17 18) {5} 1 20) {11}

Z; ié; } 22) {-2} izi igs}} 24) {3}
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